Maytag MFR80PNCTS 08 - BASKET & OUTER SHELL ASSEMBLY

33 05-May-05
504 657B
Maytag Commercial Maytag MFR80OPNCTS Washer Parts Parts Diagram 08 - BASKET & OUTER SHELL ASSEMBLY

Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
001 23003398 Drum, Complete
002 23004056 Outer Tub Comp
003 23004057 Front Tub Panel Complete
004 NLA Not Available CLIP
005 23002486 Bolt
006 23001608 Washer Lu
007 23002487 23001266 Nut M8
008 23003401 Bolt, Adjusting
009 23003402 1Sg;ing Lock Washer 16 Din
010 23003403 Washer 16BN 737
011 23004281 Nut M16
012 23002485 Sealing
" 23004248 Gasket
018 23002480 Plug
019 23002421 Screw

020 23002427 Washer, Lock


http://www.pwslaundry.com/c-299698-commercial-maytag-mfr80pncts-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7798989-maytag-23003398-washer-drum-complete.html
http://www.pwslaundry.com/i-7799484-maytag-23004056-washer-outer-tub-comp.html
http://www.pwslaundry.com/i-7799485-maytag-23004057-washer-front-tub-panel-complete.html
http://www.pwslaundry.com/i-7798481-maytag-23002486-washer-bolt.html
http://www.pwslaundry.com/i-7798004-maytag-23001608-washer-washer-lu.html
http://www.pwslaundry.com/i-7798482-maytag-23002487-washer-nut-m8.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7798992-maytag-23003401-washer-bolt-adjusting.html
http://www.pwslaundry.com/i-7798993-maytag-23003402-washer-spring-lock-washer-16-din-127.html
http://www.pwslaundry.com/i-7798994-maytag-23003403-washer-washer-16bn-737.html
http://www.pwslaundry.com/i-7799701-maytag-23004281-washer-nut-m16.html
http://www.pwslaundry.com/i-7798480-maytag-23002485-washer-sealing.html
http://www.pwslaundry.com/i-7799668-maytag-23004248-washer-gasket.html
http://www.pwslaundry.com/i-7798476-maytag-23002480-washer-plug.html
http://www.pwslaundry.com/i-7798441-maytag-23002421-washer-screw.html
http://www.pwslaundry.com/i-7798444-maytag-23002427-washer-washer-lock.html

021 23001608 Washer Lu

024 23002179 Washer Nut M14

026 23003407 Elbow

028 23004282 Steam Valve W/Coll

030 23003410 Steam Filter 3/4"
Temperature, Sensor Holder,
032 23002936 Nut M14

" 23003831 Temperature Sensor


http://www.pwslaundry.com/i-7798004-maytag-23001608-washer-washer-lu.html
http://www.pwslaundry.com/i-7799266-maytag-23003807-washer-temperature-sensor-holder.html
http://www.pwslaundry.com/i-7798281-maytag-23002179-washer-washer-nut-m14.html
http://www.pwslaundry.com/i-7798997-maytag-23003406-washer-steam-tube-complete.html
http://www.pwslaundry.com/i-7798998-maytag-23003407-washer-elbow.html
http://www.pwslaundry.com/i-7798999-maytag-23003408-washer-tube-2.html
http://www.pwslaundry.com/i-7799702-maytag-23004282-washer-steam-valve-w-coil.html
http://www.pwslaundry.com/i-7799000-maytag-23003409-washer-tube-1.html
http://www.pwslaundry.com/i-7799001-maytag-23003410-washer-steam-filter-3-4.html
http://www.pwslaundry.com/i-7798726-maytag-23002936-washer-temperature-sensor-holder-nut-m14.html
http://www.pwslaundry.com/i-7799252-maytag-23003792-washer-plug-6-diam.html
http://www.pwslaundry.com/i-7799285-maytag-23003831-washer-temperature-sensor.html

	Maytag MFR80PNCTS 08 - BASKET & OUTER SHELL ASSEMBLY

